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１．次の計算をしなさい。 

 ① ( )+３ ２ ３  

 
 

+６ ３ 

 ② ( )−７２３ ３  

 
 

21−２ ３７ 

 ③ ( )+
２

５ ６  

 
 

11 30+２  

 ④ ( )( )− +７ ３ ７ ３  

 
 
 

４ 

 ⑤ ( )( )+ −８ ２ ８ ５  

 
 

− −２ ６２ 

２． x = −２ １ のとき，次の式の値を求めなさい。 

 ① x −３ ２ 
 
 

−３２ ５ 

 ② x x+ +２ ２ １ 

 
 
 

２ 

２章(平方根) ２節(平方根をふくむ式の計算)

５．いろいろな計算 
   年    組    番 

 
名前      

21× ×＝ ７ ２３－ ７ ３＝２ －３７

× ×＝ ３ ２＋ ３ ３＝ ６＋３

( ) ( )× 30

11 30

×
２ ２

＝ ５ ＋２ ５ ６＋ ６ ＝５＋２ ＋６

　　　　　　　　　　　　　＝ ＋２

( ) ( )２ ２

＝ ７ － ３ ＝７－３＝４

( ) ( ) × 10

10 ×

２

＝ ８ ＋２－５ ８－２ ５＝８－３８－

　＝８－ －３ ２２＝－２－６２

( )３ ２－１－２＝３２－３－２＝３２－５

( ) ( ) ( )x x x
２ ２２２＋２ ＋１＝ ＋１ ＝ ２－１＋１ ＝ ２ ＝２


